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General Instructions :

The question paper comprises of two sectzons A and B. You are to

(i)
attempt both the sections.

(i)  All questions are compulsory. ,

(iti)) There is no overall choice. However, internal choice has been

 provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

(iv)  All questions of Section A and all questions of Section B are to be

attempted separately.

(v)  Questions number 1 to 4 in Section A are one mark questions.
These .are to be answered in one word or one sentence.

(vi)  Questions number 5 to 13 in Section A are two mark questions.

~ These are to be answered in about 30 words each.

(vii) Questions number 14 to 22 in Section A are three mark questions.
These are to be answered in about 50 words each. ‘

(viii)) Questions number 23 to 25 in Section A are five mark guestions.
These are to be answered in about 70 words each.

(ix)  Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the
four provided to you
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SECTION A
T 37

Butanone is a four-carbon per molecule compound. Name the functional
group present in it.

Www-wmmm%@%lwﬁmﬁmwww
fafae |

Why is the colour of clear sky blue ?

WD S H GT A = B g 2

Why is decrease of ozone in our ozone layer a cause for our worry ?
lm@ﬁqmﬁ\dﬁmwqudz\mﬁqﬁwmwﬁ@mé ?

Why are bacteria and fungi called decomposers ?

Sframy (chd“li?m) AR F% (FhEY) TS (decomposers) Fi Fwem § 7

In the periodic table, how does the tendency of atoms to lose electrons
change on going from

) left to right across a period ?

(i)  top to bottom in a group ?

3Mad 9ol |

(1) e omEd § ad 9 Q@ S W H, e

Gi) e ot ¥ s AR o

el g LS scftch{l?i N H TG Y TR 9Rafim gl g ?

What is meant by periodicity of properties of elements ? Why are the
properties of elements placed in the same group of the periodic table
similar ?

Hﬁ%?ﬁﬁaﬁﬁm(penodlclty)wﬂwdl 2 7 omad gwoh %Qa‘s‘@aﬁ
¥ W@ T oA F 0 UHEE = A g 2

Define and show on a dlagram, the following terms relating to a
concave mirror :

i) Aperture

(11)  Radius of curvature |

sEqd gu et e uel o oty fafae etk 3% ww e W fRErRu
(1) IR (5% Aperture)
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8. EXplain the formation of rainbow in the sky with the help of
diagram. | : _ .
wE foF a9 MY § IREAY $ SAA, @ uBRa @ 9uEisy |

9. (Give reasons :

(i)~ The extent of deviation of a i‘ay of light on passing through a
glass prism depends on its colour.

(i) Lights of red colour are used for danger signals.

T HNUT TARY
G) Yo Gl o w oaE F 5§ ¥ W W G9ed 71 39d T W
- ek @a g

Gi) e T w Y TR F Tk ¥ e e €

10. What is vegetative propagation ? Write two of its advantages.

s T (vegetative propagation) I BT § ? TWH & @M AW |

11. Exﬁlain‘ the terms :
1) Implantation of Zygote
(ii)  Placenta
T TS & e SN
(i)  FES (Zygote) H WGl
(i) E=T (Placenta)

12. Define :
() Biomass
(ii)  Anaerobic degradation
Ry fafau -
(1) Sig-9m (Biomass)
(ii)  S{@EEd 3UHeA (Anaerobic degradation)

13. What is an equitable distribution of resources in a society and why is
it necessary ? State any two factors which work against an equitable
distribution of resources. '

frd TOTS § SOl & 9O R = 2§ oUW g S eTaves B
27 9 A W w fafer St T S e fran % el e e ©
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14,

150

16.

31/2/1

What is a homologous series of compounds ? List any two of its

(a)
characteristics. :
(b) What is the next hlgher homologue of C3H7OH ? What is its
formula and what is it called ? 3
(%) A S TESTEE Sl (homologous serles) = g 8 2 T W A
fergimand fafeT |
(@) C3H70Hﬁmmﬁmmﬁqtﬁﬁ@?ﬂwaﬁ?¢g%{ﬁ§m
The positions of three elements A, B and C in the periodic table are
indicated below :
Group 16 : Group 17 .
— —  (First Period)
— A (Second Period)
= — (Third Period)
B C (Fourth Period)
(a) State whether element C would be a metal or a non-metal.
Why ?
(b)  Which is the more, active element, A or C ? Why ?
(c) Which type of ion (cation or anion) will be formed by the
element C ? Why ? 3
i T A, Baﬁzo%méwﬁﬁwm:ﬁ%ﬁ@rmq%
=i 16 & 17
i o (T8 IER)
o A (9T 31
- L (FT 3R
B C (=te 3T )
(%) fofee f5 o C g 8T 37 Sterg | = ?
(@) T o frareia 8, A stgen C 2 ¥4 2
(M = C e (SFTE) ST Y T (FOEE) 7 i 2
With the help of a ray diagram explain why a convex mirror is
preferred for rear view mirrors in motor cars. 3
@Wﬁawmm@qﬁﬁamﬁ%aﬁa@ﬁ%@ﬁ%mm
for & = aife T WAl STl g |
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17.

18.

19

20.

21.

22,

23.

What is understood by lateral displacement of light ? Illustrate it with
the help of a diagram. List any two factors on which the lateral
displacement in a particular substance depends.

.ma@ma*f(lateral)ﬁwm@wmw%73@@:@%‘3{%?@@

feht0T = oRT | TH & @ PR fafay M9 w e verd ey 8§ e @ ue

 foremT w1 A feflt @ R

Name the three common defects of vision. What are their causes ?
Name the type of lens used to correct each of them.

e & O T Qo % A T | e N Y mrr SR ¥ 2 o v
& o0 gums o9 = 9m o e |

Expand AIDS. List any four methods of prevention (control) of AIDS.
AIDS % -0 fafe | AIDS ® I3 & 5 9R fafel oo Hife |

Explain how evolutionary relationships can be traced by the study of
homologous organs.

WY FHNE & gusaEg 3 @@ '?r@m g %ﬁ e (evolutlonary) g S
TEE gEd §

“Only variations that confer an advantage on an individual organism
will survive in a population.” Justify this statement.

‘o 98 qRadq, S R R Sfe @ oy ugee g, E@‘Wf{aﬁ@
? 1 5 S & gude Fifv |

How is the sex of the child fixed during the fertilisation step in human
beings 7 Explain.

B SErEE IO gEg g=E o fraRer fmg Al Eﬁ?ﬂ% ? WE g i

Give reasons for the following :

1) Element carbon forms compounds mainly by covalent bonding.

(i)  Diamond has a high melting point.

(iii)  Graphite is a good conductor of electricity.

(iv)  Acetylene burns with a sooty flame.

) Kerosene does not decolourise Bromine water Whlle cooking oils
~ do.

OR

(a) What is a detergent ? Name one detergent.
(b)  Write two advantages and two disadvantages of using detergents
over soaps. ;
(¢)  Why, by using a detergent, can we wash clothes even in hard
~ water ?

31/2/1 ’ 6
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(i) ¥ W TeEIR I BB |

(i) IwEe fogd ¥ g 8 |

(iv) UGl yier ot ¥ et 3§ |
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A F
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24. (a) Under what condition will a glass lens placed in a transparent

liquid become invisible ?

(b)  Describe and illustrate with a diagram, how we should arrange
two converging lenses so that a parallel beam of light entering
one lens emerges as a parallel beam after passing through the
second lens.

(¢)  An object is placed at a distance of 3 cm from a concave lens of
focal length 12 cm. Find the (i) position and (ii) nature of the
image formed. ; 5

| OR

(a) With the help of a ray diagram explain why a concave lens
diverges the rays of a parallel beam of light.

(b) A 2.0 cm tall object is placed perpendicular to the principal axis

of a concave lens of focal length 15 cm. At what distance from the

- lens, should the object be placed so that it forms an image 10 cm
from the lens ? Also find the nature and the size of image formed. 5

() o fofy ¥ R oreR g9 § TaT geN FY W UH @9 VI & S ?

@) @mwm@awmﬁawé@ﬁmmmﬁ%
= 5 T o9 ¥ Y T A GAARR TRE R IS g o ¥ At
N W T GHAR RO 9 % @ ®9 w0 A |
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25. (a)

(b)

(a)

(b)
(c)

(%)

ECC))

(%)
(@)

(m
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Draw a d1agram illustrating fertilization in a ﬂowemng plant and
label on it : '

Male germ cell, Ovary, Female germ cell and Polleh grain.

Distinguish between self pollination and cross pollination.
| OR

What is spore formation ?
Draw a diagram showing spore formation in Rhizopus.

List two advantages for organisms to reproduce themselves
through spores. : '

w3 A R R 3 R w R eme ok oW
JHfera sifs .

T I (germ) HIVH, SR (ovary), TE SFH (germ) a?rfwr am
TUT &7 (pollen gram) l

WO i W # s e |
SISTY] AT (spore formation) &1 BT & ?

TESIE (Rhizopus) § 5] gy &1 femm & faw & sewRT |
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SECTION B
"

26. Dhoni obtained the image of a distant object on a screen by using a
concave mirror. To find the focal length of the mirror he should
measure the distance between

(A) the mirror and the screen as well as between object and the
' screen '

(B) mirror and the screen
(C)  object and the screen
(D) object and the mirror

gt 3 STaae TUUT W T W T QS o @ WA W afdfere s R 1 gd

B BHET U IT FA F A W AR @ A o
(A) i AR A F §" Foaw e ok i F A" S
(B) < IR BhA % 99

(C) fom 3k B9 & d9 R

(D) ﬁmaﬁtmﬁaﬁaﬁ

27. Which of the following can be used to find the focal length of a convex’
lens ?7

(A) Objecf at a distance of 10 cm for a lens of focal length 30 cm
(B)  Light from a laboratory window
| (C) Light from the sun |
(D) Light from a tree next to the window |
| @mﬁqﬁqﬁwiﬁmmﬁ%mHHfﬁsdﬁﬁ&wl g R ST
R 2 |
(A) 30 ¥ wEY O ¥ 99 ¥ e 10 I o R Frw @
(B) AR Wt fasd ¥ M W TR MW
©) T @M R W H |
(D) gl & free & 990 § 31 | FHA H
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28. Mohan, Sohan and Rahul separately measured the focal length of the
~ same convex lens using the same distant tree as object. All of them
measured the distance between the Iens and the inverted image of the

tree on the screen.

Mohan obtained a sharp image on the screen and labelled the
‘measured distance as fj.

Sohan obtained a slightly smaller and somewhat blurred image on
‘the screen. He labelled the measured distance as f,.

Rahul obtained a slightly magnified and blurred image on the screen.
~ He labelled the measured distance as f;.

Thg three measured values of focal length are likely to be related as 1
A) fi<f, and f; =1

B) f;<f and f; <fj

(©) .f3>f1>f2’

D) f=1f=1

W W F I R A A WA, %ﬁ%#sﬁxnga?ﬂ%?%@ﬁmév‘
aﬁﬁw@aﬁwsmﬁﬁﬁﬂaﬁt@mmaﬁﬁg%w@qﬁ@m%ﬁ
gl oA

AT 3 W W T o (WE) SR e e o wRE gh @ f & d
feram |

e 7 BT W 9l B 3ﬁf@ gye o = feen ofi wfte @ & f,
g deafad fwam |
@ﬁwﬁqmﬁ@waﬁxgwqﬁrﬁmwmlmmﬁﬁgﬁaﬁfg
REIR M E

*m@%mmwzﬂmwm
(A) fy<f, 3R f;=6

B) f;<f, 3 ;<1
© fy>f>f
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29.

30.

The best set-up of pins for the incident ray to trace the path of a ray
of light through a rectangular glass slab is represented in the figure

I II 111 v

(A I | (B) II
() 1III D) IV

TEHT T & TS IR S Qq%ﬁﬂ%wﬁﬁ@ﬁ%mmﬁﬁm
%Wﬁﬁaﬁwﬁwﬁm@mﬁﬁﬁﬁ@mw%?

I II 111 v
@ 1 (B) II
© 1 | D) v

While tracing the path of a ray of light through a rectangular glass
slab, the four students I, II, III and IV arrived at the following
different conclusions :

Student I :  Angle of incidence > Angle of emergence.
Student I :  Angle of refraction > Angle of emergence.
Student ITI : Emergent ray is parallel to refracted ray.
Student IV : Emergent ray is parallel to incident ray.

The correct conclusion has been drawn by the student
A 1 B II
() nur D) IV

g ¥ U ST W § Y U e R @ Ty fafe s SR s L 1 I

3 IV & frofe e i woR 9

g [: 39 Ho > fla @ |

gy II :  AuEaq HoT > ffa |

o 1T - ffa fvor staafda fror & ga=R 2 |
o [V - fia RROor eTfoa fRor & OORR ©

e R W FRA A O A1

@ I L - ® I
(C) I (D) Iv
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81. On adding a clean Aluminium strip to an aqueous solution of copper

sulphate, it is observed that the colour of the solution changes from 1
(A) Dblue to colourless (B) colourless to blue w
(C) blue to green | (D) green to blue

Ui & WH TS W AW Fewe & weird foed § S w fewE M
foereT @ 7w @

) - A § OrRH (B) TEE ¥ Fen
© FIFIw o (D) &® 3 A
32. An aqueous solution of z~inc' sulphate was taken in four test tubes. Zinc, |

Iron, Copper and Aluminium pieces were dropped into separate test
 tubes as given below :

A reaction will be observed in test tubes 1
(A) IandII (B) I and III |
(C) 1II and III (D) only IV

WW%WW@?{RW??WWI&@ A, HE
aﬁt&@ﬁrﬁw%mgﬁq%wmﬁgﬁwaﬂ%mﬁﬂﬁaﬁ
f"a»-qrwé

aﬁmmmﬁ@?@mﬁawﬁﬁﬁ ?
@& IskRIm (®) 13k II |
(C) Haﬁx 111 (D) & IV

3tz S 2




33. On shaking acetic acid with water ' 1
(A) a colloidal solution is formed.
(B) a suspée?psion\ is formed.
(Cj a homo‘geneous mixture is formed.

(D) a heterogeneous mixture is formed.

ifes o & S & 9 Rem W

(A) TE e 9 o6 R |

(B) TS i@ (suspension) AT & |
(C) U TE T A # 1

(D) & fwmih fagor o9 2 |

34, When solid sodium bicarbonate is added to a dilute aqueous solution of
ethanoic acid : . 1

(A) Brisk effervescence takes place and an odourless gas is evolved

(B) Brisk effervescence takes place and a pungent smelhng gas is
evolved.

(C) No effervescence occurs and no gas is evolved.

(D) Brisk effervescence occurs and a gas is evolved which helps a
glowing splinter to burn with a flame.

T TS on % A Sehd feeE # SN ST sReeiNe S S g
(A) g JegEEe A6 R ¥R UE TR T e @ | |

(B) Fﬁawéﬁ%aﬁiwmwmﬁﬁqﬁwﬁﬁl

(C) 7 geuErEe o 7, 7 R AN feerdt € |

D) 9 eEEe A & o uE 6 Feed @ S T gernd dl W s
WA

35. As observed in the school laboratory, acetié acid is 1
(A) Dblue in colour and has a fruity smell.
(B) colourless and smells like vinegar.
(C)  colourless and has no odour.

- (D) colourless and smells like rotten eggs.

31/2/1 13 T P.T.O.




feramer EMIIen # 3@ WM % oW, UHifew o
(A)  He T1 0 e @ R well S T e R
(B) Ur-ted @ @ iR s S Ty e @ |

(C) Tr-Ua 3R o 7 %7 B R |

(D) r-tfed o WS SR SR T Arem A € |

A slide shows a cell and another similar cell of smaller size attached to
the tip of the first cell. This slide could be of

(A)  two bt\1ds of yeast
(B) _ yeast with a bud
(C) Amoeba with bud
(D) two daughter cells of Amoeba

T RS TF FIE 3R 9 500 R 8 §E w569 § s Fe =
2 | 98 WEE ¥ Gudl R

(A) TER F T Fed

(B) TH &l & 9T GHR &l

(C) TUH FeO o Gy SHE @

(D) orer % I A () HifvEe &

The process represented in the given diagram is

@B F 8

(A) formation of bud taking place in Amoeba

(B) formation of daughter cells in Amoeba
(C) identical gametes being formed in Amoeba

(D)  formation of spores in Amoeba

- 31/2/1 14




39 Igfd ¥ feee T v @

&« W

(A)  orfier § weft F o

(B)  Irfien § Hald (T SR & o

(C) onfer ¥ UH-SIW TG (gametes) T T
(D) Hn # LT (spores) T AT

The budding in yeast is illustrated by the following diagram :

I II 111 v
A I | ®) I ;

(C) III g D) IV
frafafed ergfadl § 9 w8 @R @ gpen fabE w9 g 2

an @

@ 1 o (B) II
© Im D) IV

If W, is the initial mass of raisins and W, is the final mass after
soaking in water, then the percentage of water absorbed by the raisins
is :

W, - W W, - W

(A) _—W-l—& x 100 (B) —-—X—V—Z-—-l- x 100
W, - W ” W, - W
(8) —ZW—J- x 100 | D) —J—W—-—l x 100

2

31/2/1 15




afe W, m%ﬁwmwﬁﬁ?qﬁﬁﬁﬂﬁ%swrﬂw 3f=m
Wﬁs} o fFufre & g ¥ fve S 9 sl @i

W - W W, - W
(A) ——l—w——-—Z— % 100 (B) __2?_1_ % 100

1

W, - W A
C) —2__ 1 4100 oD -2 100
Wl W2

Instead of room temperature (25°C), if the water used for soaking is
50°C, the percentage of water absorbed by raisins will be

(A) the same
(B) less -
(C) more

(D) exactly twice

- gft TR F @9 (25°C) | T TR EVIMNG S & 99 50°C B, a‘fﬁwﬁm%
ﬁmﬁlﬁawaﬁm@ﬂ |

(A) TER S

(B) T § A

() T ¥ AE
(D) W ¥ 3w g

The set of materials requiréd in the experiment, “to determine the
percentage of water absorbed by raisins” is

(A) Raisins, water, filter paper, beaker

(B) Raisins, beaker, balance, weight box

(C) Raisins, beaker, water, balance, weight box

'(D) Raisins, beaker, water, filter paper, weight box, balance ‘
“frufry g0 A S & SR 919 7 S FE H eTeavas S gl
(A) frufe & q@, 59, e IR, fie

(B) fpufer & gM, diL, T, Se-T

(C) frufmr & M, R, e, qofl, s1e-ae

(D) frufme & @, 9o, 9@, fheeX TN, Se-999, o
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